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Precalculus 

10-06 Binomial Theorem 

(x + y)0                                                         1 

(x + y)1                                               1x               1y 

(x + y)2                                    1x2             2xy               1y2 

(x + y)3                            1x3           3x2y           3xy2              1y3 

(x + y)4                    1x4         4x3y          6x2y2            4xy3            1y4 

Properties 

1. __________________terms   

2. Powers of x count __________________, y’s count __________________ 

3. Sum of exponents of each term = __________________ 

4. Coefficients are __________________ 

Binomial theorem 

(𝑎 + 𝑏)𝑛 = ∑ 𝐶𝑛 𝑟
𝑎𝑛−𝑟𝑏𝑟

𝑛

𝑟=0

 

• where 𝐶𝑛 𝑟
=

𝑛!

(𝑛−𝑟)!𝑟!
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Expand (𝑥 + 2)4 
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Expand (3 − 𝑥2)5 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Find the coefficient of the term 𝑎4𝑏7 in (2𝑎 − 3𝑏)11 

 

 

 

 

 

 

 

 

 


